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Answer Question No. 1 which is compulsory and any five from the rest.

The figures in the right-hand margin indicate marks.

1. Answer the following questions : 2x10

(a)
(b)

=
Q =2 o0

Distinguish between search space and state space.

What are the search techniques available in Al ? Write time complexity of
DFS and BFS.

What is truth maintenance system ?

What is heuristic search technique ?

What is the objective of Dempster-Shafer theory ?

Distinguish between frames and scripts with suitable examples.

Discuss different types of ontological building blocks.

What do you mean by syntactic processing ?

How do you recognize a pattern using clustering ?

What is non monotonic reasoning system ?

Show that A* algorithm is admissible. 5
Write the following sentences in first order predicate logic : 5
(i) Thereis aperson who loves everyone in the world.

(ii) Everyoneinthe worldis loved by atleast one person.

(iii) All students are clever.

(iv) Some students are not successful.
(v) Every clever student is successful.
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3. (a) Express the following statements in terms of wifs : 5
(i) Allemployees earning Rs. 1.8 Lakh or more per year pay taxes.
(i) Noemployee earns more than the president.
(iii) Some employees are sick today.

(b) Convertthe following into clause form : 5

IX vy(vzP(f(x),y, z) = (3uQ(x, u) & 3v R(y, v)))
4. (a) Describe the Minimax Algorithm for searching game trees. 5
(b) Give a brief description of the basic back tracking algorithm for finding a
solution. 5
5. (a) Whatis Chomsky hierarchy ? Discuss the scope of chomsky’s grammar
for describing English language. 5
(b) Write both top-down and bottom-up procedure for parsing the sentence
“Kathy jumped the horse”. 5

6. (a) Discuss decision theoretic classification and syntactic classification. 5

(b) Compute the Mahalanobis distance between two normal distributions having
zero means, variance of 4 and 9 and a covariance of 5. 5

7. Draw the conceptual dependencies structure of the following statements: 10
(a) Joe gave Sue aflower.
(b) Joe ate some soup.
(c) Johnran yesterday.
(d) Johntook the book from Mary.
(v) John fertilized the field.

8. Whatis expert system ? Discuss the major components of an expert system. 10
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